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1.1 ��

1.2 ���������������������	
�������

1.3 
���������������CH3MgX ����CH3CH=O
      OMgX
       |           +H2O

CH3 – CH = O + CH3MgX            CH3 – CH – CH3

           OH
            |

            CH3 – CH – CH3 + Mg(OH)X

1.4 CH3CH2Cl + NaCN             CH3CH2CN + NaCl

CH2 = O + H2 →��   CH3OH

CH3COOH + NaHCO3              CH3COONa + H2O + CO2

1.5 �� ���CH3 – CH – CH3

     |
    Cl

B: CH3 – CH – CH3

    |
   OH

�: CH3 – CH – CH3

    |
   ONa

	: CH3 – CH – O – CH – CH3

    |          |
   �
3         CH3



2

 Cl
  |

�� CH3 – CH = CH2 + HCl            CH3 – CH – CH3
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CH3 – CH = CH2 + H2O            CH3 – CH – CH3

(�	�������)

           OH ONa
|  |

CH3 – CH – CH3 + Na             CH3 – CH – CH3 + 
�

� H2

(���������	����	��)

        ONa              Cl
           |               |
CH3 – CH – CH3 + CH3 – CH – CH3       CH3����	��������	����	3 + NaCl

               |         |
                   CH3        CH3
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�� C�	����� · V�	����� = C������� · V�������

      ����
����· 2L = 10-3 · V�������

�	��V������� = 200 L
O ������������	��������	�������������� 200 – 2 = 198 L
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His – Thr – Asp
         Thr – Asp – Val – Lys

       Asp – Val
   Lys – Ala

 Ala – Arg – Phe ����	������
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His – Thr – Asp – Val – Lys – Ala – Arg – Phe ����	������
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